/ 397000 T e T
i —— s =25

N 295500

—_—

A
p
- 6143000 1 i

CE 1 TAB-aH0e o
(s |

-dL =
n




399000 Pl 399500

398000 d 398500

=
i,

m7| "
+

b6a lMonusaHoBO

Okonbl BOB

_I—'_'_ ¥ -
& OuunCTHbIE COOpPYXKEHUSA
¥ + . {
& L] |
& | —
& . iz iGRIaTePs «BYPEBGETHAY S8 mocT uepes c



1Ty s Ty

i
i A e L
1 e
I t
1
- 6145500 T
----- |
/5!!.(/—"-_—[.—) Tt . cafepee
Bas CTaHuus @OTOBOW CBA3N = ¥
i, _‘\' * o
]
B':} Emﬁ nmonepﬁarepn: « HOF
N
-

o
rn Iii kopnyc .
"Ry S e
% e
o ) — ,
- 6145000 /

B
&
*-

KN «EBponeiickaa ponuH




i

¢xiw |
-
o

BT. MOCT figpes:pexy Flaxpy E
Tl ) L12 Mpya-ceanka

f
_|J

OEOPOET 02

T
M» ol
e K6

>
= *
n?HaTopvm «PoauHa»

LR
LR B B )
e

¥ viw

CEON Oropop

| \ = 24

\ Bbipy6ka BeKOBbIX eneI

MonsHa ™ ==d—_ _
iz 1

|
F
!
4
]
I
I
i
L}

i
!

i

[}

i
i

Lo viass
ATTRT TR

4
I
i
I
I

i
1
W
i : 3
: |‘3a60 loYEHHas nonsHaz Bl o T
MonsHa L] 4 3 i
: II = " S i— - — _(
1 | i
II i |
I L14 NecHan nonsiH s
1 i
| J14 ji K14 1, onAHIE |
li n i (3 T e ;
+ r 1 \x‘\.\\N ¢
I 3
i Al 4
"\-\.._\_\_1- i
|
i
i

I
1
q
1
i
i
4
1

b
i T :
{ T 7= -~ — —HesaKouHas BbIpYGKa I
X <
]

e

catip {cmp.)




/ 400000

401000
B 5 6143000
i _\_\__H-H-"‘\.

|I BonoTo!
n

——— e,

Fa

P

010
—®

Enosas Bbipybka

N11
—&

"MyntokuHo none"

_——_,q_L

[Oom otabixa «Meyutar

Ara
=]

¢¢+¢+“"

1
| +
P
I
i ]
I

_@ 1

e

. H
"
rI/ICTHbIe CBBPy)KeHI/Iﬂ KaHanusauun

nepe

no kamHsIM

H-H""'\-\.\, . CEAOOE.T I
"—\-\.\_\_\_\_ - &

- - “&x:_ﬁpywili
d -

-

"H.__‘L
Tl b

5145000 -

L -



UEE .

P12
EE 6145500 -

>KWHONUCHBIN COCHAK

-

=
-

CenbCcKoX03SNCTBEHHOE none

P13 1
61 45[_”] 0 -

i

.

L
v
\
\

leca

[

\\L\ 3apo

asi onyLuka

-
\ P16

‘\IE'&:“II 43500 -

»

b







|
((HOBOpOT ‘Ha.[lonvBaHOBO»
0

I

i

% 1

- - H
i

5o

nan

.'r E :
-
.I"I E
? " i
* o
2 . :
i + & o
II_"' : & & 0
7=
J17 : e
+ - b HANDRA
I," i L P
H i & - ¥
."lr & &
& e

-

MpyA

=

Vo

43T «HedpTomarigTpans:

N\

L

Mactepckue

a #.lanoso

,
BO, 44
-




143000 -

E#I
BH42500 -

A T n

400000

400500

4

401000



